® BC = AD
@ AD =AC
® /B = /BAD

@zADB =90°
©® aABDE °lsHHZF oI,

ofh

AABD = AADC (SAS &%)




o}, /BAC =70°

@ ‘ABC @):acB ® (EAC

Zo]l5 HJoervg /BAC = /DAC = 70° ©|t}. /DAC =
(ACB (91Z}) o]t}
w2t /BAC = /ACB ©]t}.




(@)E =FD @AACB = /FED
® /ABC = /FDE @ BC =DE

®)ac-7E

@® AB =FD (H) @ /ACB = /FED (R) ®AC = FE (S)
%, RHS &5




o8 T4 H 0= A2 ABC 9] @14 o]th AB = 16cm &
o, x o] Zo]E?

@ 4em @ 6cm @8cm @ 10cm ® 12cm

A 07 aABC Y &l4olBn=2
OA = 0B = 0OC °|t}.
o x=0C = 8(cm)




0 7FaABC 9 &JHY W, 1x o] A27]E7

A

25°

B 30

Q

@® 15° @ 20° ® 25° @ 30° ®)35°

A O 7 eAelBR, /x+30°+25°=90°
SLx=35°




6. U3 182 AABC 9} AEFG ©14 AB = AC,EF = EG ¢ W, zx+2y
ol 27=7?

A

@® 104° @ 105° ® 106° @ 107° @108°

~&B ~

ABCD + o| R o|BnE
/CBD = 180°-2x72° = 36°
AABC £ o] 3HAZgolBER
(ABC = /ACB = 72°

L [x=T2°-36°=36°

AEFG £ o|s8dZgolng
(FGE = 36°, /FEG = 108°

T AEFH & o|sHAZ Yol B2
(EFH = /FEH = 36°

S ly=108°-36°=T72°

Wt A zx 4 Ly = 36° + 72° = 108°

ofl

ol




t}& 78t ZFo] AB = AC ¢l o]5¥HAZMg A
ABC °|4 BC 9] 535 M olzt ofah. I M
o4 AB,AC ol Y& $-419] W& 27 D.E
2 g, MD = ME 92 ehii ahgolA

oot z7do] opd A27

@® BM =CM @ B=/.C

®)BD = CE @ /BDM = /CEM

ABMD ¢} ACME 9|4 /B = /C, /BDM = /CEM = 90°,
BM = MC
.. ABMD = ACME (RHA &%)




Oh& 1™ ol /B 7F A7 24479 ABC 9 8lW AC 9
FHS 0= & o, /BAC = 50° o[t} zx O] 277
A
50°
0
T
B C

@® 60° @ 70° ® 80° @ 90° (@)100°

B \
A ZHtzte o] 9142 HiH o] F3o]B2 A0 = CO = BO ©|tt.
AO =BO °|2& AOAB = o]5H Azt o[t}

LOAB = 50° ©]1, /OAB = /OBA

wabA L OBA = 50° o]t}

x = 50° 4 50° = 100°




9.

o2 1A H 178 aAABC O] U4 A W, 2x 0] 27]+=7

A

B E=C
30 25°

@® 15° @ 20° ® 25° @ 30°

®)35°

30°4+25°+ /x =90°
S /x=35°




10. o5 ™A A 1= aABC 9 Yotk aABC o] =89 Zo7t
40cm ©]31 AABC 2] Bo]7} 60cm? & o, g He] §ExF-2] Aol=?

A

P BN

@ 1lcm @ 2cm (@)3cm @ 4cm ® 5em

% X r x40 = 60
whabA ghz2]52] dol= 3cm o[t




11. Z"elA & 0 &= aABC 9 JAelth LOAB = 10°, £OBC = 30°
A, LOAC ¢ 27]=7

@ 40° @ 45° @50° @ 55° ® 60°

B

/OAB = /OBA, /OBC = /OCB,
/OAC = /0OCA

£OAB + £OBC + tOCA =90°

.. /OAC =90°-40°=50°




12. AABC 94 A 0 & YjAlo]al AE ] Zo]7} 30|t} AABC =48 &
o, Al 2] Ao]o] 22

2
a—|—b—|—c=48><§:32




13. o2 adA A 170 429 ABC © W4lola DE//BC ¢
DI+IE & I 2H?

® 6cm @)7cm ® 8cm @ 9cm ® 10cm

A 171 Az+ o] Yalol 1 DE//BC € |, DE = DI + BI =
DB+EC o|t}t. wtA x = DI4IE = DE = (12-8)+(9-6) =
4+ 3 = 7(cm)©]T}.




14. the 2ol aABC = HZH417Hdo| L AD & /BAC 9] o] SEA
olch. ABLDM , AM = BM 2 o, /x ©] 27]29
A

@© 45° @ 50° ® 55° @60° ® 65°

AADM = aAADC (RHA %) 0]2& /ADM = /ADC--- @
AMBD = AMAD (SAS #%)¢]2& /DAM = /DBM - ©
@, ©°l1A] 3x = 180°

Co/x = 60°




15. o2 187 Zo] ABC oA AD =DC 7} H=2 8 D & #2 o,
0O = AABD 9] 9JAo]a A 11 AADC o] A oltt, o, /OAT
o] 3712

A

O
60° I 40°
D

Q

B

@ 18° @ 46° @50° @ 52° ® 108°

~&B

(DOA =2x60°=120° °]2& /OAD = (180°-120°) +2 =
30° o],

(DAC =44°0|E& /DAl =40°+2=20°

wabA LOAIL = ZOAD + /DAI = 50°




